
ANGLICKÝ JAZYK IX.A 
Řešení za období od 11.5. do 15.5. 

 

 

HODNOCENÝ ÚKOL  

1. Read the text and answer the questions below in full sentences. (36-40) 

36 They moved to the countryside. 

37 Tom felt confused and scared. 

38 No, because Philip disappeared. 

39 He got lost in the forest and never came back. 

40 because he thought Philip was a ghost. 

 

2. Find 10 examples of verbs in their past simple forms (5 regular, 5 irregular). 

RV – moved, decided, tried, looked, started, walked, talked, wanted, helped 

IV – was, left, lost, went, heard, sat, began, said, told, were, could, got, saw, came 

 

3. Find 1 example of the past continuous and explain its usage (in Czech).  

When I got home my mum was talking to a policeman. (děj minulý, který probíhal, 

když jej přerušil jiný děj minulý) 

 

 

 Student’s Book  

 

 str.51, cv.4 

1 will 

2 will 

3 won’t 

4 won’t 

5 will 



6 won’t 

7 will 

 

 str.51, cv.5 (moje návrhy) 

1 I’m going to have a party tonight. 

2 I’m not going to visit a museum next week. 

3 I’m going to play football tonight. 

4 I’m going to write her an email tonight. 

5 I’m not going to send a letter to her this weekend. 

6 I’m not going to meet my friends this weekend. 

7 I’m going to buy a car when I finish school 

 

 

 str.51, cv.7 

1 will 

2 am going to 

3 will 

4 are going to 

5 will  

 

 

 Workbook 

 

 str.36, cv.4 

1 will look 

2 is leaving 

3 is going to rain 

4 will help 

5 will take 

6 will people fly 

7 will win 

8 am meeting 

9 will probably be 

10 am going to play

Zdroj obrázku: 

https://www.ibtta.org/blog/uber-flying-cars-may-be-only-decade-away 

https://www.ibtta.org/blog/uber-flying-cars-may-be-only-decade-away

